KS2 Problem Solving Questions
Monday I3* March 2017

n A number is made up of the following i n The pie chart shows how children in Y6
digits.
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travel to school.

® The digit in the tenths place is the Bus

same as the digit in the ones place. 35%

one more than the digit in the _
35/, of children travel by bus.

8 more children travel by bus than by

hundredths place.

car.
What is the number?

(a) How many children are in Y6?

%atthUBS

White Rose

® The digit in the hundreds place is i
| (b) How many walk to school?



